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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 865799460 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Charitha realized that her 12 year old daughter 1s out growing her clothes very
fast during the last one year as compared to previous years. The principle of
growth and development that relates to this 1s
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Options :

Rate of Growth and development is not uniform

HShde Hbcin o8 Sho agdamr et

1. v
Principle of continuity
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Principle of interrelation
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Principle of cephalo caudal direction
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Question Number : 2 Question Id : 865799461 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following statements and identify the correct answer
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A)  Growth and development 1= a joint product of heredity and environment

2ibie sHbdn dseho Bda Hodds Hbdn HbNTre Ang) eyt 68,8
B) Lakshmi daughter of a music teacher, has grown up listening to music
from childhood and became a very famous singer
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Options :
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Statement A is true but does not offer correct explanation for statement B
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Statement A 1s true and offers correct explanation for statement B
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Statement A is false
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Statement B 1s not an example to explain principles of growth and
development

2505 HBdn S5 SrEred HHBoSOE rcﬁ bod5 B ¥ el soth.

e



Question Number : 3 Question Id : 865799462 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

The size of a person’s head compared to his body size
2.8 38 8o D85 rmo @8 $80 2BErHeos” SO

e

Options :
remains constant throughout life
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Increases with age
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decreazes with age
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Question Number : 4 Question Id : 865799463 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to ‘developmental tasks’

=

‘DN SyEye’ H Domobot) HO5ER :365 0853 bBool
Options :
Failure to accomplish present tasks leads to difficulty in accomplishing
future tasks.
- <

Dohod” JPero, FALHRS DHdedd J8 BdhEos”

plar

DJM@ é“‘:‘r’“\_ﬂ ol

(A8

Ef:-oii\_éd r8&:nob.

Developmental tasks are age specific.
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Developmental tasks are influenced by the cultural group to which the
child belongs.
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Developmental tasks are not essentially linked with developmental stages.
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Question Number : 5 Question Id : 865799464 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
Five vear old Anjali wanted to pluck flowers from the garden but stopped
because her father said. ‘Watchman will take you away if vou pluck flowers'.
The stage of moral development of Anjali is
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Options :
Stage 2 of Pre-conventional morality
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Stage 1 of Pre-conventional morality
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Stage 3 of Conventional morality
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Stage 4 of Conventional morality
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Question Number : 6 Question Id : 865799465 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Kaveri went to her friend's office and was looking around to find out how to
reach her friend. She saw someone sitting before a desk with no name board but
thought that it looks like front desk or reception and went to her for enquiry.
The cognitive functioning according to Piaget that happened here is
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Conservation
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Question Number : 7 Question Id : 865799466 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Smriti wanted to know in which field herl5 year old daughter, Sony would gain
success 1n future so as to guide her in choosing the course at plus 2 level. Smriti
took Sony to a counsellor and after administering one test he suggested that
Sony would do very good in mechanical engineering. The test administered by
the counsellor on Sony 1s
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Thinking
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Question Number : 8 Question Id : 865799467 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Three women are tallking about their husbands. Woman ‘A’ said, ‘'my husband 1s
handsome’. Woman ‘B’ said 'my husband is a sportsperson’. Woman ‘C’ said ‘my
husband loves children’. Among the three women who is fully depicting the
personality of her husband
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Options :
Neither A, nor B. nor C
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Question Number : 9 Question Id : 865799468 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Samarth is a very arrogant businessman. Inspite of the quality of his product.
customers stopped coming to him due to his arrogance. Realizing this Samarth
changed his behaviour towards customers so as to improve his business. This

modification of behaviour of Samarth can be given as an example for
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Question Number : 10 Question Id : 865799469 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In this method. one’s mind is both the subject and object of study
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Experimentation
1 s c\/.J -T’r!-iO
Intr{mpectic:n
o mbenn
2. ¢
Survey Method
%0 HES
3. 33 [y Y g'f'_

Case study

“ 308 @i:ahdo
4. - )



Question Number : 11 Question Id : 865799470 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Learning cannot take place without this
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Options :
Imprinting
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Question Number : 12 Question Id : 865799471 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Sachin is a bright student. His father wanted him to become a doctor and
admitted him in science group at plus 2 level but Sachin who wanted to become
a lawyer could not get seat in medical course. The most probable reason among
the following for Sachin’s failure to get a seat in medical course 1s due to his
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Intelligence
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Question Number : 13 Question Id : 865799472 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In ‘Trial and Error learning’. the learner after a few trials finds solution
without making any errors by
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A)  Eliminating the incorrect responses
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B) Fixing only the right response
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Choose the corect answer
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Options :
Both A& B
A & B Bo&r

1.v
A only
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2. % )
B only
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Neither A nor B
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Question Number : 14 Question Id : 865799473 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In Pavlov's Classical Conditioning, an artificial stimulus elicits this
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Options :
Conditioned response equivalent to natural response
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Artificial response not equivalent to natural response
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Question Number : 15 Question Id : 865799474 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to B F Skinner a response is said to be ‘emitted’ when it is caused by
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Options :
Both known and unknown stimuh
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Question Number : 16 Question Id : 865799475 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher has given her students some dotted pictures and asked them to
complete as meaningful pictures. Children joined the dots and showed the
pictures of flowers. The gestalt principle involved here 1s
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Question Number : 17 Question Id : 865799476 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Acquisition of social skills comes under this domain of learning
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Cognitive
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Question Number : 18 Question Id : 865799477 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The motives that ensure the preservation of life for an individual and his race
are
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Question Number : 19 Question Id : 865799478 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Vineela and her six very close classmates at school met after a gap of 25 vears.
While i school all of them used to celebrate each of their birthdays together.
Among all of them, Vineela was the one who was recalling many things
including all of their birthdays and the details of their celebrations. Her friends

were surprised with the ‘retention’ of Vineela which ecan also be called as
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Storage
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Question Number : 20 Question Id : 865799479 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which among the following get transferred from one learning to another
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) Knowledge
&3;:3{:-
B) Skills

—_ .
ploiEFE 80D

C) Habits
EDExaPED
D) Attitudes
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Choose the corect answer
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Options :
A& Bonly

A & Birgd

1. ®
A, B& Conly
A, B & C srsdh
2. %
B.C & D only
B, C & D sr@ah
3. %

ABC&D
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Question Number : 21 Question Id : 865799480 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In which among the following. learning iz well organized with pre-determined
objectives
808 O, Snothie S8onodd &

A)  School
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B) Neighbourhood
mbiTren

C) Famly
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Choose the corect answer
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Question Number : 22 Question Id : 865799481 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following is a strategy for effective teaching
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Options :
Teacher centered pedagogy
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Delinking education with life skills
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Question Number : 23 Question Id : 865799482 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the ways in which ‘Enquiry Based Learning’ can happen among the
following
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B) Predicting outcomes
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C) Manipulating variables
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D) Analyzing situations
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Choose the corect answer
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Question Number : 24 Question Id : 865799483 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to Inclusive Education
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Options :

Inclusive school provides learning opportunities to children according to

their needs
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Inclusive school 1s one which welcomes heterogeneous group of learners
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Inclusive school runs on the principle of zero rejection
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Question Number : 25 Question Id : 865799484 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In the Right of Children to Free and Compulsory Education Act, 2009, a ‘parent’

under Rule 2 15 defined as
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Options :

Only Natural father or mother of a child
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Only Natural or step father or mother of a child
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Only Natural or adoptive father or mother of a child
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Question Number : 26 Question Id : 865799485 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following, identify those that are found in a blueprint of an
achievement test
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) Actual Test items
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B) Weightage to different content units
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C) Weightage to different objectives
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D) Scoring key
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Choose the corect answer
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Options :
B, C & D only
B.C & Dsr@sd
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ABC&D
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A, B & Conly
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Question Number : 27 Question Id : 865799486 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The time for all activities in school limited by the number of days in an

academic yvear and is almost same throughout the country is called
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Question Number : 28 Question Id : 865799487 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to this psychologist, knowledgeable persons help the child to move
from a lower actual developmental level to a higher level of potential

development
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Options :
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Question Number : 29 Question Id : 865799488 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The leadership style of a teacher who makes rules, does not allow to change
rules and runs the class strictly as per rules is
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Question Number : 30 Question Id : 865799489 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to Bruner, learning is an active process of discovery influenced by
learner’s
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Question Id : 865799490 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 34)
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Sub questions

Question Number : 31 Question Id : 865799491 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 865799492 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 865799493 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 865799494 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Id : 865799495 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (35 to 38)
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Sub questions

Question Number : 35 Question Id : 865799496 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 865799497 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 865799498 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
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Question Number : 38 Question Id : 865799499 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Shuffling Allowed : Yes



Question Number : 39 Question Id : 865799500 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 865799501 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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: MCQ Option Shuffling : Yes Display Question

: MCQ Option Shuffling : Yes Display Question



Question Number : 41 Question Id : 865799502 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 865799503 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 865799504 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 865799505 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 865799506 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 865799507 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number
Number : Yes

Correct Marks : 1
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Question Number
Number : Yes

Correct Marks : 1

: 47 Question Id : 865799508 Question Type : MCQ Option Shuffling : Yes Display Question

Wrong Marks : 0

: 48 Question Id : 865799509 Question Type : MCQ Option Shuffling : Yes Display Question

Wrong Marks : 0
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Number : Yes

Question Number : 49 Question Id : 865799510 Question Type : MCQ Option Shuffling : Yes Display Question
Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 865799511 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 865799512 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 865799513 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes Display Question

: MCQ Option Shuffling : Yes Display Question



Question Number : 53 Question Id : 865799514 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 865799515 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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: MCQ Option Shuffling : Yes Display Question

: MCQ Option Shuffling : Yes Display Question



Question Number : 55 Question Id : 865799516 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 865799517 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Yes Display Question

MCQ Option Shuffling

865799518 Question Type

Question Number : 57 Question Id
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Correct Marks : 1 Wrong Marks
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MCQ Option Shuffling

865799519 Question Type

Question Number : 58 Question Id
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Question Number : 59 Question Id : 865799520 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0

i
i adt ot B sl oD oy Lo g
Fradsn S da oared DO8 B0
o - o
Options :
= . LA ] R —= = o
ryBed 855 Po8gDE” Siken donodto
1. #
- 4 -
PaPrDBinoT Trdidio
2. %
afwd ool _: i o it D
SR abd e adfSodserato
3.9
Tt RyT g i g0
Benmerd5, v& S E50 Sshaio Zdbdo
4. %

Question Number : 60 Question Id : 865799521 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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: MCQ Option Shuffling : Yes Display Question

: MCQ Option Shuffling : Yes Display Question

Language II English

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

86579918
3

Online
Mandatory
26



Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

26

30

0

1
86579929
Yes



Question Id : 865799522 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)
(61-65) Read the following passage and choose the correct option for
each question.

Attitudes offer great possibilities for successful achievement as well as
failure in life. They are an important motivator of behaviour and affect all
human wvalues. Efficiency results when a person is impelled by his attitude to
start. continue, and complete a project rather than to avoid an unpleasant task.
His attitude towards his work affects his worthwhileness in the activity. His
attitude towards others determines his social value. If the individual can learn
to forget self and to be of service to those who need help. he has achieved
personality characteristics that are essential to the gaining of appreciation from
others. If he does not feel superior to the work that he is doing or to the people
with whom he 1s associated. he 1s likely to succeed in his work and in his social

relationships.

A child should not be permitted to do completely as he wishes. He should
be stimulated towards desirable activity through the arousal of interest in
worthwhile projects. Constructive, objective attitudes encouraged during
childhood serve well during adolescence. The attitude of the teacher. of the
parent, or of a group leader is 1mportant. Each should display the kind of
objective but understanding attitude that will be a good attitude for the child to
imitate. Parents sometimes tend to overrate their children and excuse them for
behavipur and attitudes that are considered undesirable by others. Teachers. on
the contrary, sometimes become so professionally objective towards their pupils
that the latter develop the kind of attitudes towards teachers that are
exemplified in "teacher cartoons." There is a middle ground for both the teacher

and the parent.

Sub questions

Question Number : 61 Question Id : 865799523 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the passage, whose attitude does not serve as an imitation to the child?



Options :
fellow pupil
L pup

teacher
2. %

group leader

parent
4, %

Question Number : 62 Question Id : 865799524 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the passage. efficiency results when a person is impelled by his attitude

rather than to avoid an unpleasant task.

Options :

to avoid a pleasant task
1. %

to start. continue, and complete a project
2.

to do completely as she or he wishes

to restrict him or her from doing pleasant tasks
4. %

Question Number : 63 Question Id : 865799525 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the correct statement based on the reading of the passage.
Options :
Constructive. objective attitudes encouraged during adolescence serve well

[ % during childhood.



Constructive, objective attitudes encouraged during adulthood serve well

during adolescence.

Constructive. subjective attitudes encouraged during childhood serve well

during adolescence.

Constructive, objective attitudes encouraged during childhood serve well

during adolescence.
4.

Question Number : 64 Question Id : 865799526 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In the context of the passage, read the statements (a) and (b). and choose the
right option.
(a) Child’s attitude towards his work affects his worthwhileness in the task.
(b) Child's attitude towards others determines his social value.

Options :

Only the Sentence (a) is correct.
1. #

Only the Sentence (b) is correct.
2. %

Both the Sentences (a) and (b) are correct.
3. ¢

Both the Sentences (a) and (b) are incorrect.
4. %

Question Number : 65 Question Id : 865799527 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



As per the passage, the individual 1s assumed to have achieved the personality
characteristics essential for gaining appreciation. when the individual can learn
o

Choose the correct option to complete the sentence.

Options :

v forget self and to be of service to the needy.
1.

forget others and to be of service to their parents.
2. ®

forget self and to be of service to the rich.
3. %

forget self and to be of service to himself.

Sub-Section Number : 2
Sub-Section Id : 86579930
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 865799528 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

As per the plan, the entire project will have been completed the year

2035.

Identify the appropriate preposition to complete the sentence.

Options :

between



Question Number : 67 Question Id : 865799529 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Who 1s allowed into the meeting hall?

Choose the appropriate option to complete the sentence.
Options :
oolng to

1. ®

. going to been
2. -

olng to be
3 @ going

golng to being

Question Number : 68 Question Id : 865799530 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
France is a beautiful country and love champagne.
Identify the appropriate option to complete the sentence.
Options :

a French
1. %

the French
2.

French
3. %

an French
4. %



Question Number : 69 Question Id : 865799531 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the correctly spelt word from the given options.

Options :

adhesive
1. ¢

adhessive

2. ®
addhesive
3.
addhessive
4.%

Question Number : 70 Question Id : 865799532 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

My father has been running lately.
The sentence means
Options :

” My father has been running more in recent days.
1. i

My father has been not on time.
2. %

My father has been a late comer.
3. %

My father has been usually slow in his work.
4.%



Question Number : 71 Question Id : 865799533 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

being billionaire, the man lives in a very small house.

Choose the appropriate option to complete the sentence.
Options :

Since

However
2. ®

Tl I
_ 1ough

In spite of
4.

Question Number : 72 Question Id : 865799534 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The teacher has conducted numerous during the academic vear.

Choose the correct option to complete the sentence.
Options :

quiz
1. %

uizzes
2. ®

3 % quizes

quizess
4. %



Question Number : 73 Question Id : 865799535 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the statements (a) and (b), and choose the right option.
(a) This land is rarely visited by the tourists.

(b) This land is seldom visited by the tourists.

Options :

Only the Sentence (a) 1z correct.
1. %

Only the Sentence (b) 1= correct.
2. %

Both the Sentences (a) and (b) are correct.
3.¢

Both the Sentences (a) and (b) are incorrect.
4. %

Question Number : 74 Question Id : 865799536 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :

He helped the old woman house had been burgled.

Choose the correct option to complete the sentence.

Options :

L% who
whose
whom
3.

which



Question Number : 75 Question Id : 865799537 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The girl 1s taller

Choose the correct option to complete the sentence.

Options :

than himself
1. %

than his
2. #

then he
3. %

than him
4.

Question Number : 76 Question Id : 865799538 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Susan won the prize last vear and will do so once again this year.
The expression ‘will do so’ means
Options :
will win the prize.

1.

would be win the prize.
2. #

won the prize.
3. %

may have win the prize.
4.%



Question Number : 77 Question Id : 865799539 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the part with an error in the given sentence.

She wolke up with an headache yesterday.

A B C D

Options :

% D
C
2. ¢
3. % .
A
4. %

Question Number : 78 Question Id : 865799540 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The team have never won the cup. iy

Choose the correct option to complete the given sentence.
Options :

hasn’t they
1. %

haven't they

have they
3.

has they
4. %



Question Number : 79 Question Id : 865799541 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Hope for the best. prepare for

Choose the appropriate option to complete the proverb.
Options :
% the good

a worst

2.

the worst
3.9

the better
4.

Question Number : 80 Question Id : 865799542 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

For he was unhappy. he asked to be transformed.

Choose the option to replace the word “For” in the sentence.
Options :

1 ® So

Be 8
" ecause

Hence
3. %

Yet



Question Number : 81 Question Id : 865799543 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The government which is run by only the wealthy people 12 known as

Options :
Oligarchy
1. %

Gerontocracy
2. %

Plutocracy
3.¢

Ochlocracy
4, %

Question Number : 82 Question Id : 865799544 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correctly sequenced sentence.

The /chosen./ he spoke / were well /few words
Options :

He spoke the few words were chosen.

1. %

The few words he spoke were well chosen.
2.

The few words he spoke chosen were well.
3. %

The well chosen few words he spoke were.
4, ®



Question Number : 83 Question Id : 865799545 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

People can justify some mistakes in some special circumstances.

Identify the passive sentence for the given sentence.

Options :

Some mistakes can have been justifiable in some special circumstances.

1. ®

Some mistales could be justified in some special circumstances.
2. ®

Some mistakes can be justified in some special circumstances.
3.9

Some mistakes can justified in some special circumstances.
4. %

Question Number : 84 Question Id : 865799546 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the grammatically WRONG sentence with regard to using the
expression “work out”.

Options :

Usually. the residents work out the fire before the fire-fighters arrive.
1.¢¥

The wrestlers work out at the gym thrice a week.
2. %

3 % This time, our strategy for the examinations may work out well.

We need to work out the total coat before we buy the house.
4.%



Question Number : 85 Question Id : 865799547 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In the process of listening. the listener
Options :

mnterprets and understands the message by decoding it.
1. ¢

creates and sends a new message.
2. %
understands the message solely based on the received information, without

using background knowledge.

lgnores context and the tone of the apeaker.
4. %

Question Number : 86 Question Id : 865799548 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Structural-Oral-Situational (SOS) approach in teaching English focuses on
the following.

Options :

Teaching language in context through real-life situations and oral

practice

1.
Teaching language in classroom situations and gilving more writing
practice.

2. ®

Teaching language through conventional grammar and 1solated structures.
3. %

Teaching vocabulary in isolation with less priority for spoken language.
4. %



Question Number : 87 Question Id : 865799549 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Pick the INCORRECT statement about language acquisition.

Options :

Language acquisition largely an unconscious process.

Language acquisition involves both the development of receptive skills and

> % productive skills.

In the process of acquisition, the learners often make errors which are

either tolerated or understood by the learners.

Acquisition usually associated with young children acquiring a new

language which could be a foreign language.
4.



Question Number : 88 Question Id : 865799550 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arrange the five stages involved in syllabus produection in the correct order.
1)  Suggesting teaching strategies

1) Learner description and needs

11) Evaluating the course and learners

1v) Deciding on course contents

v)  Formulation of objectives

Choose the correct option.

Options :
m, v, 11, 1v, 1

1. %

1, 1m, 1, v, iv
2. %

1, v,1v, 1, iil
3.¢

v, 1,11, 1, 1Iv

Question Number : 89 Question Id : 865799551 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
These tests are designed to measure learners’ ability to use language which they
are expected to use at a given level.
Options :
Achievement tests

1. %

Proficiency tests

Aptitude tests

Diagnostic tests



Question Number : 90 Question Id : 865799552 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The following 1s a key tenet of the Direct Method of language teaching.
Options :

Translation from one language to the other language 1= allowed.

1. %
At the initial stage. the focus of language teaching is on teaching of
grammar and teaching of oral skills follows.
2. %
Learners can use mother tongue in the classroom.
3. %
Exposure to natural language is given by using everyday vocabulary and
grammar.
4.
Mathematics
Section Id : 86579919
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 86579931

Question Shuffling Allowed : Yes



Question Number : 91 Question Id : 865799553 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Highest common factor of 21p2q*r3, 42 pq?r?, 63p2q3r*is
21 p2q4'r3, 472 pqz’rz. 63p q'r-e ﬁﬁa:} REEEr greso
Options :
42 pq>r?

1. #®

1 . 2.2
ngpqr

2.

()3 p2q4r4
3. %

21 p2q4r3
4, %

Question Number : 92 Question Id : 865799554 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Two numbers are in the ratio 3 : 5. If 9 1= subtracted from each, the new

numbers are 1n the ratigl? : 23. Then. the sum of two numbers 1=

= Pl - N W e R foo, =<3 -V RV .M
Oolsd Oren 2 rdoljesd God®y 0D, [oled oI ol (.) S, 5 e O EIrED 12 253
[ — oA e & - § - o

R . S Y o pla - i
claeded” SofPon '\D:,':'od,,n:L_\_J. @ Gold _,‘ag_';'?d IO

Options :

88
1. ¢

33
2. %
3 % 35

L2



Question Number : 93 Question Id : 865799555 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

(~1)*=

Options :

—1
1. %
=
2. %
0
3. %
1
4.

Question Number : 94 Question Id : 865799556 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Four identical circles each of radius 2em are placed on a horizontal square
surface touching one another. The area (in sq.cm) of the space left between
them 1s

P, 2 oatl a2 e £ ’ IR = E\.\ N i &=y g Hm = sl Ao L e
a8 i':"_l@.a"\jb__,]"‘sﬁ"\j marofdd #oom 2 Wo0.e0 om0 DA mrentd 2508 ;:ljl_\lfgt_lt_a;\_\u

or.

L TP R
oS 580
it =1 = -

[

o
(=¥

Options :

2(4 —m)
1. %

4(16 —m)
2. %

16(4 — m)
3.

4(2 — 4m)

4.%



Question Number : 95 Question Id : 865799557 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The total surface area of a rectangular block i1s 7488 sq.em. It's length,

breadth and height are in the ratio 4 : 3 : 2, then its breadth (in cm) 1s

. —— — : -
2.% ée_jaaﬁ:cp 528 8 c?s:-:éé., HorS o Ferego 7488 3.3 0.8, o P&, e,
lales i“ 43205888 agron, @598, o0 Fen (Do .fh.edd

831D oléen edalEsey E2aI7 000, t:-ng,.&,f.‘;u. Lol olL3€0) { JO oD 08

Options :

% 48

24
2. %

a6
3. %

36
4.

Question Number : 96 Question Id : 865799558 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

3160_5151

3150

Options :

3.5

1. ®

3(3°
2.¥
3. %




Question Number : 97 Question Id : 865799559 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

: ; : : ax+2 :
If the point (3. 4) lies on the line y = S then the value of a 1s

. ax+2 e ;
(3,4) 93 SoihyCn y = ; & &dpdond, a Gng) densd
Options :
10
3
1.
2. %
3
10
3. %
4. %

Question Number : 98 Question Id : 865799560 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In the following, largest four-digit cubic number is
Bof o3&t %-Ea_a',ig PeniD @oSe s Doy

Options :

L% 9901

L w9449

9261
3.9

9648
4.%



Question Number : 99 Question Id : 865799561 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The average salary of all the employees in a company is T6000. Qut of these.
the average salary of six employees 15 10000 and the average salary of the
remaining employees 1s T5000. So what is the total number of employees in
the company?

2.5 S0dED wodth t%ESE;ﬁJf_: Sien DEHo T6000. HBS® e ﬁ%ﬁf‘ca STaT
S50 T10000 B DHADS &8f0e Siitn 8o 75000, wond, © Lo0ndS
Fndo 6850e Hog; Jod?

Options :

16
1. %

2. %

30
3.

36
4.%



Question Number : 100 Question Id : 865799562 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the number 736 1z divided in the ratio

B =

2
G

| W

, then the second number
formed 12

sogy; 736 &

— -
oo oB ooy e e S e S frA P,
ol et {u‘$fg_.;\: 2 {ufjn o Oofs rale

Options :

% 368
256

2.
192

3. %

Lx 288

Question Number : 101 Question Id : 865799563 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

(0.02)73 =
Options :
125
1. ®
12500
2. %
1250
3. %
125000

4.



Question Number : 102 Question Id : 865799564 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The maximum number of diagonals that can be drawn to a hexagon 1=
o = B e e ”
2.8 5i5erds Adhtie HB5 ?éq_:'e: Q0%

Options :
0

Question Number : 103 Question Id : 865799565 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the zero of the polynomial 6x2 — 14x — 40 in the following is

08 mast s 6x2 — 14x — 40 aws); o8 G850

U

i

Options :

3

1. ®
0

2. %
3. % J
4



Question Number : 104 Question Id : 865799566 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The sum of two-digit numbers that are divisible by both 3 and 7 is

3 £080in 7 Sofiofld griodat Cotd ®ose doge Sndo
Options :

220
1. %

2.



Question Number : 105 Question Id : 865799567 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Madhu purchased 120 oranges for 7600 and sold 80 of them for ¥500. If he
sells remaining 40 oranges at the same rate, the percentage profit or loss to
him 1=

o

30¢h T600 € 120 Boe: Hod B ardd&” 80 Doy 500 § edirytd. e&d bADS

r

= =, o - = - ! -
40 TBoes HoEH ©l G ©lyd, 88 $T) oy o B I T80

Options :
Profit 12%

erdio 12%

1. %
Loss 25%
30 25%
2. % %
Tioss 12%
da0 12%
3. %

Profit 25%

ergio 25%

4.



Question Number : 106 Question Id : 865799568 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Ifxy = 1thenx + ¥ + 2 can be written as
xy=lewcdx+y+2Haser EPO8D)

Options :

(x+1)r—A)

x-Dy -1

(x+1D(y+1)

3.¢

(x—1)(y+1)

4, #

Question Number : 107 Question Id : 865799569 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

1 1
Ifa —— = 3, then (12 —!-—2 =
a a

1 . i
aA—c ZS@Cax-EHE‘J——z =
a a

Options :

11
1. ¢



Question Number : 108 Question Id : 865799570 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

; 2 4 2 BN 2,
ThePropertyusedln(S X 9)4— (5 X 9) s

2 4 2 5 N N
=X -4 | - X -] =& gadrhoa OO0
5 g 5 9 5

Options :

Closure property

| % 0838 DOe0

wh
o

'F

0

Distributive property

2.¢
Commutative property
28080 H850

3.8

Asspciative property

H3PEE B8 m

4. %



Question Number : 109 Question Id : 865799571 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In APQR, 2Q = 90°, PQ=QR= 3v2 cm, then value of PR(in cm) is
APQR&® £Q = 90°, PQ=QR= 3v2 20.8. waxsd PR Jendd (20.80.06°)

Options :

2
1. %

5
2. %

6
3.¢

b
4.%

Question Number : 110 Question Id : 865799572 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The area of two circles are in the ratio 4:9, then the ratio of their
circumferences in order 1=

A

.

= e o N G O SIS S SO .

ol ) o) TREIRres ol ed 4() wona, Do s ‘c?pﬂ' n,'a\ﬂ)&
g £ o )bt

Options :

[ % 16:64
2:3
2.4
0:4
3. %
3.2



Question Number : 111 Question Id : 865799573 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In two triangles XYZ and MNO, XY=0N, YZ=NM and XZ=0M then
XYZ %8850 MNO o3 Gots iﬁﬁ-ﬂﬂﬁ-é’g. XY=0N, YZ=NM %8500 XZ=-0OM @cna

Options :

AXYZ = AMNO
1. ®

AXZY = AMNO
2. %

AXYZ = ANOM
3. %

AXYZ = AONM
4. ¢

Question Number : 112 Question Id : 865799574 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

404040 x 15 =

Options :

6060600
1.

66600
2. %

600600600

606600
4. %



Question Number : 113 Question Id : 865799575 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following number is divisible by 8?

o

i

;
g2
Nl

2 Hog; 8 B grhodethdoh?
Options :

L% 38324

28780
37136

47612

Question Number : 114 Question Id : 865799576 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

(0. —4)1s

The fourth vertex of a square whose three other vertices are (4. 0), (0, 0) and

(4.0), (0,0) 600 (0, —4) &3 st Bopen DA &3 SHBFo GE; T 4¥o
Options :
(—4. 4)
1. %
(4, —4)
2.
(4. —4)
o
(4, 4)



Question Number : 115 Question Id : 865799577 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

“A student can understand and make mathematical generalizations and
conjectures”. Then the academic standard achieved by the student is:
“a.8 EJD?'Q M3 rrrdesteron H00H D850 Red *é--g'o D8 Ned H8a
Sodiie.” ©Hd, @ P FBoDS yPHiPeso:
Options :

Connection

S Ta A

1. #
Communication
HrEndsdo
2. ®
Problem solving
_ RS R vLlats

Reasoning and proof

seSeren Tetio Soban Dre Tohdo



Question Number : 116 Question Id : 865799578 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

“The parallel sides of a trapezium are 9%cm and 7em long and the perpendicular
distance between them 1s 6ecm. Find the area of the trapezium.” The most
suitable method of teaching mathematics to teach this problem is:

“Hieos Siteso o?:::éér Herosd Dere Seden S 9 Do.éb 988w 7 Do.sb.,
)

o R - & =y . gl v : _ - 2 PR VS V)
a2 308 eontirbo 6 Vo.ab., @ond Hiboosn St Javeri) SRTNol.” & D8y
Bt ot i - . e
00 odod ODEroDS Ned & e 558

Options :
Project Method
(SESA et
lalSE G

1. %

Heuristic Method

-

£ . v
ErotolEs ol e
e o

Deductive Method

D0 HHS
3.¢ e

Analytic Method

L. o
G o}igé



Question Number : 117 Question Id : 865799579 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

117. Identify the points that must be preferred in the selection of topics for school
mathematies curriculum among the following:
&ob PBSE e B8 I PHerdED Froromed JoHSEENs #5008 GroedH
Bl wozrer) (D8odob:
A) Teacher centered approach
&areeoh SobE)E Awrdo
B) Logical order
@88 Bivo
C) Spiral approach
28e drEdo
D) Psychological order
STHHE D50 Eio
Choose the correct answer:
2388 esarPenad Johstod:
Options :
A& Conly
A& Csimgad

1. %

A.B& Donly

A B& Dirgs
2. %

B. C &D only

B.C & D srid
3.¢

ABC&D
ABC&D



Question Number : 118 Question Id : 865799580 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The point that 13 NOT relevant with the planning of learning experiences in
mathematics 1s:
- ey ot - wt L . wf & ailfie
fiedod” egf:id) oddlarah SraroBodSlEs Honotio B8O wodo:
Options :
Learning experiences should be arranged from complex to simple

@i waaresd gc&ﬁﬁ Dol HoEES ashoed.

= L,_.'Ur‘

1. ¢
Learning experiences should seek pupﬂs' participation to the maximum
possible extent.

. @EF;SC:-@ PN 00 1'5‘3 i;o::aé’“ Go6 o @8 wanglsren Gotd.

2. ' - ' a
Learning experiences should be directly linked with the desired
objectives.
©ef5d ohgare @dodd oo’ IHT VNS lotaTed.

3. %

Learning experiences should be arranged according to the facilities

available in the immediate environment of the school.

e Gng Sf%m Perddnod wolbhorindt &3 TPETne (H5edo @gfd

o e



Question Number : 119 Question Id : 865799581 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Seminars in mathematies for students are conducted through:

| Py - | P - A . oy st B S
oid 565.-.""*':‘3 fteclatell F:JQJ\.,E::SS & EJPJ [l D_-'f\j;c-.?'ﬁ'{f"w'?um.:.
Q

Options :
Mathematics Olympiad

Hede e.Dohdirh

1. %
Mathematica Laboratory
, % Nesd (DOIRHare
Mathematics Club
Heges gﬁ;o;_
3.¢

Mathematics Library

- ) - s

Negd Noredio



Question Number : 120 Question Id : 865799582 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If an item intended to be tested is accurately tested, then that evaluation tool

will have this characteristic:

=~ oo o ST Ty S, 3. Ty e y - 2
o) o)) HBfoTre FPIRNTEF 8 Yod ) S Eorr 2651,

©EERan 588 Sodnod:

-, o

U,

Options :

Rehability

D¥ 5D
1. ®

Validity

et
2.

Discrimination power

AirEerds
3. %

Admimistrability

ABcsrer Aredo
4, %

Science

Section Id : 86579920
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 86579932

Question Shuffling Allowed : Yes



Question Number : 121 Question Id : 865799583 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The statement “External pressure applied to an enclosed volume of fluid 1s
transmitted equally in all directions throughout the fluid volume” refers to this

principle

Options :
Archimedes’ Principle

88 06h SrE@o

1. ®
Pascal's Principle

) i‘-‘?&éé: 2o
Bernoulli's Prineiple
28070 o

3. % '

Newton's Law

KR Adhsho
4. %



Question Number : 122 Question Id : 865799584 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The brightest planet in the solar system 1s

Options :

Mercury
w E0lHeD

Venus

HBD
2.

Mars

SorPiED
3. %

Jupiter

£y T

Lvm’_‘n., :‘n;k'_g
4.%

Question Number : 123 Question Id : 865799585 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes Display Question

: MCQ Option Shuffling : Yes Display Question

The volume of oxygen required to burn 40g of Hydrogen at STP (in Litres) is

A O
e -

!

QTP 3¢5 2 R SR, | R g V- Ry R Y S Sy S e S N R T LV £ S £y oh
o P 58 40 TTPaller adP|6 e3mel) anOGOLTETHS @anlenn B85 80 o lea)Cod Es0 {P.JE.JU@ )
& - o p

Options :

22.4
1. %

112
2. %

27
3. ¢ L

4.48



Question Number : 124 Question Id : 865799586 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Electron configuration of Chromium is

8y e — O e T = o
= fhodo SVEL ] 0.;&5:{ EA TSl

2

Options :

1522522p®3s23p®4s23d*
1. %

152252 2p°352 3po 452 34"
2.9

1s22522p%3523p%4513d10

L% 1522522p°®3523p°4523d°

: MCQ Option Shuffling : Yes Display Question



Question Number : 125 Question Id : 865799587 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the following statements and choose the correct option.
Lob aepgres 368 205 80t) 5% 2otHS ok,
A)  Atomic radil increase in groups.
(P ed” Hsrea Ptren RIbERon.
B) Stable configuration influences ionization energy.
E:m’::m:léu OSS SRALSTe BehHAE5e #53 Egraso mwoﬁ:-
C) Metals are electr{mEgative elements.
&:ben ewesdtigtPrd B8 fe dresten.
Options :
all A, B, C are true

L - an? T
.’jl.. E. C Y ’%‘c‘l‘c‘_ 03@80

1. %
only A. B are true
) o A, B sirEsh S0
only A, C are true
A, Car@a 80
3. % = =

only B, C are true



Question Number : 126 Question Id : 865799588 Question Type

Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the metal with its extraction process

R AT . It ] ook £ ot agt
& cu_-T’:'ch:“_ el r&@fra.--ﬁﬁ- @J.‘_é'.'j:ug paddmtitiod.

Metal
Sproile)
A} Na
B) Fe
C) Hg
D) Ag

Extraction process

iii)

iv)

Choosze the correct answer

=F

%, £t e i TR -
{*Jg:‘l__'l n]c-.u‘E.’l_"r_Jc-:\_::*F._ aotnS ol

Options :

1

v A-1i, B-1. C-iv. D-11

A-1i, B-11, C-1v, D-1

2. %

A-in, B-iv, C-11. D

A-11, B-1, C-11. D-1v

4.%

Soffdrn B38ah
Reduction
¥ihE8mo
Displacement
5‘1;‘;‘6.,;4 odo
Electrolysis
Dirs é]:fj‘aisa
Heating 1n air

mEE° shofiodido

: MCQ Option Shuffling

: Yes Display Question



Question Number : 127 Question Id : 865799589 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Atomieity of Sucrose molecule 13
88 e @nd
Options :

45
1. ¢

2. %

46
4. %

Question Number : 128 Question Id : 865799590 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the FALSE statement
@38; a0 ool

Options :

Normal force 1= a contact force.

-+ ¢ v
NeIe08 50 &S N0I® 2ed.

1. % =T

i

Friction opposes the movement.

sl — s Y £ c.ﬁ ¥ Al
soles, DeoaPay 8 S085008.
O:‘ . ) —

2. %

Pressure does not depend on area of the body.

=]

3 EN0, H5:08 STe arlhd soiith.

Force 1s measured in Newtons.

: MCQ Option Shuffling : Yes Display Question

: MCQ Option Shuffling : Yes Display Question



Question Number : 129 Question Id : 865799591 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The right choice of connection to make a bulb glow brighter

e sobo HErdHodort JOA0STEAIE Dohiiens 0D HotPs dohl

Options :

Connecting electric cells in series

&

ot . - P
@BS” Dnd wéred JSogrdo IS

1.
Connecting electric cells in parallel
Herosdore 3333355 Stred Sotrdo Behdo
2. ®
Connecting electric bulbs in series
= ] =
BBEE” gk wenypid Hogrdo BdhEo
3. %

Connecting electric bulbs mn parallel

Harosdorr Hyd oened Jofrdo Bdbdo



Question Number : 130 Question Id : 865799592 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The disease NOT caused by untreated water

8 DDA A Hg & TH JoEWoUD

Options
Diarrhoea
DBSaoen

1. %

Malaria

Typhoid

e =
o P OmG

3. %

Covid
508

4.



Question Number : 131 Question Id : 865799593 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :

Total internal reflection occurs because:

P08 Ho: “U‘ﬂo@rﬁ HTERGR0 Hogdothed He 5°8mo:

Options :

3.¢

Light slows down when 1t passes from a denser to a rarer medium

0f rotisd diriddo ol DU dirddo ¥% %5 2530 Jadoyhinob S‘J'ﬂ’::
Light bends towards the normal when passing from a rarer to a denser
Medium

A5E dirddo Sof droisd dirddo % E@;i:-a’:;*f‘b SP08 000 Ha Hoib&od

S
-]

The angle of incidence exceeds the critical angle when light tries to move
from a denser to a rarer medium
08 SPol3Es dirsEo ok DB airSso $% IE Soitorr HES o 5-::\-5?

8%y ShosPiuof seatd
=
. =

Light splits into its constituent colours when passing through a prism

Seo8, SP08% % g0 0ok Eg‘fé:@;ii} TRED @ddnés Sotbeore DESPHOH 5 "“-"E“EE'



Question Number : 132 Question Id : 865799594 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify which of the following 1= true

B0 88" 08 H& a0 ibBoisol.
Options :

Every non-metal has bright surface.

(206 S IBE D8 EErENodals &hbdao totuod.

1. #

Metals and non-metals are used in fire works.

L S g P -

ePepdoTe B0TrAE° 5ien X80T ot iBen aSErAcSasEron.
2.¢

Every metal has crystalline form.

28 &sro Hfisesed dralrd) $OA Gotwod.
3. %

Every metal can be made into sheets.

B . =X -
208 & _{‘cfﬁm Oen 8475 DAnaEY.



Question Number : 133 Question Id : 865799595 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the plant that is having ‘Haustoria’ from the following
Bob arRS° EPOUT e BDA $08 Inky% D80S0

Options :

Nepenthes

A BT
62 ol OG0l

1. ®

Mushrooms

" torben
2. % -

Legumes

2 B
Calavitvg

Cuscuta



Question Number : 134 Question Id : 865799596 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the cell organelles that are found in both plant and animal cells

-

. oo . - PO . .
35,5 508dw a0 See ColiotdS® &ot Berorreasl Hodol

Options :
Plastids

=
TR Y

B,
o
e

E-‘TJ/

Cell wall

5 % Eesasio

Centrioles

D R T oF
~O|EICOPEy

3. %

Endoplasmic reticulum

20808 Kiereo



Question Number : 135 Question Id : 865799597 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the structure of human skelton that associates the lege and the

trunk

k L T N, N — 1 LA oy :!" a T B T W oy o s
S°E) 0B Anoto B Jofrdod srds ehBond JURgEr 8otk

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to all
candidates.

Options :

Petric girdle

1

-
b
o)

(S

&

@ 3508
1.

£

Pectoral girdle

655335!; [

Backhbone

i = NCE A 4
aledYollls
(=9

Clavicle

23¢08



Question Number : 136 Question Id : 865799598 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following 13 NOT the common function of leaves m plants.

R oy ol ol s AR D
Bob ordE" e 568, E’u;ééﬁ:é" L@ NS Pl A SUD.
e L")

Options :

Transpiration

Eonid ﬁl E;_é o

Gaseous exchange

s

P SRV RO Y T g
o000l oledoDCO00

Reproduction

o o
(o) Ea0E% €3
- = oS

3.¢

Photosynthesis



Question Number : 137 Question Id : 865799599 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the process of killing silk moth cocoons by exposing steam (or) hot
air from the following

L R 5 5 e o 5 e e
2R Gogisrend 808 S &S HBID Jow @S MBodod
0 = o

Options :

Scouring

@E‘;&Oﬁ

2.

3. %

Carding

=ilallal



Question Number : 138 Question Id : 865799600 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the plant that stores food materials in root

A L = VA o T R R S 4
©:5*0 JorTred JHd” Jeg dn 308 failaleralolen
. 2

Options :
Sweet potato

et thowd

g

1. ¢

Potato

Turmeric

odeddad
3. %

Ginger



Question Number : 139 Question Id : 865799601 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
Identify the correct sentence
2008 eyl fobodol

Options :

‘Cartilage’ iz a type of muscle tissue

Foptherd 2.8 508 S0l Smereo
1 4 o @ o
‘Ligament’ 1s a type of epithelial tissue
‘Diiods” @b .8 S5DY &858 Smereo
2. %
‘Bone’ 1= a type of connective tissue
‘ans’ a8 5808 Sodiresd Smereo
3.¢

‘Fibroblasts’ are a type of nervous tissue

’

DE D en’ &8 U5 > dmereo
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Question Number : 140 Question Id : 865799602 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks :
Identify the INCORRECT pair
205°R 23850 oBool

Options :

Vorticella - Protozoan

H0Rer — PRSP ETHE
L& 5
Spirulina - Microarthropod
o - G, afark
2.4
Ceratium - alga
Aoeticho — deo
3. % B

Coccus - Bacterium

: MCQ Option Shuffling : Yes Display Question



Question Number : 141 Question Id : 865799603 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following hormone 18 NOT secreted by pituitary gland?

808 RS Hord 11083 BRoNas 65,5 06?

Options :

Follicle stimulating hormone

™ - "'E E o “_—
DS HmsdioR FFE°%

-+
1. %
Growth hormone
DG B8R0
2. ®
Leutinizing hormone
3 % erSg3Loh Py i

Progesteron

P [ R
e/ el ed
£ =
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Question Number : 142 Question Id : 865799604 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the secondary pollutant from the following

2 = N -
Lo AE° BH:8AD SPensyse)) DBoPod

o

Options :

PAN
1. ¢

CFC
2. %

o,
3. %

S0,

4. %



Question Number : 143 Question Id : 865799605 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is called as ‘global grain’?
808 aPRS° Arad Ronk’ (HHos rd )T D8 K80 6?
Options :

Maize

e S T
:uJJg.'_{-bJ é“
[a) (=

1. ®

Wheat

. % Attha

Rice

H56



Question Number : 144 Question Id : 865799606 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The scientist who discovered the role of sunlight in photosynthesis was

4 WA ST ad Bk B R TR e S =y 0¥ T4
éDEE"&:'fm; woiFENScnE” rdisroa (8313 ) oPEe D Sold) Q; TP ool &
o

1= o L =
Options :

Joseph Priestley

[Lee]

LB 8
& odgd fol
2

a2

1. ®

Jan Ingenhousy
PR Bomo T8

2.

Stephen Hales

= iy

L)

E =5
.'E oI
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'3.11

)

&

Van Heloment

TR Trer 0
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Question Number : 145 Question Id : 865799607 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Sharvani, a Class X student, carefully assembles a simple electric circuit using a
battery, wires, switch, and bulb, ensuring it functions correctly and neatly.
Identify the domain and the level demonstrated by the student.

A3 BBRE B ewond FTeed m’;é:-é. 3D, frE B0 wenyh &XArAcT 2.8 Jrerds

DyE Decirdy erfige Soird Thod. @b ZdEorr HBc $ET HATHot

ATB08). Aed i) S TIN5 Hosohoild Sofo 5865 drond HBoPok.

o [~ = =n &
Options :
Affective domain — Application

grard)s Solflo — ®:ndho

&=
1. %
Affective domain — Organization
grarE S Bollo - Harado
2. ® @
Paychomotor domain — Articulation
srRes Sedrd s oo - il oo
3. ¢

Psychomotor domain — Imitation level

5PaE Seard ;s Sollo - e@n88s
4, %



Question Number : 146 Question Id : 865799608 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following 18 NOT an approach of the historical method?
8ot O TBEE DB g, 6o SRB I6?
Options :
Anecdotal approach

BHy@rod adNdo

1. ®
Biographieal approach
28 S0 aHido

2. %
Evolutionary approach
2H8ePen Garisvo

3.
Experimental approach
Eaireree 8 Gdifisho

4.

Question Number : 147 Question Id : 865799609 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In this year, National Innovation Foundation (INIF ) was established 1n India
& JodEPod”, griEldod” 036 af @ue rotan (NIF) rhodalod.

Options :

L% 1995

2000
2.

2005
3. %

2010



Question Number : 148 Question Id : 865799610 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A biological science teacher asking his/her students to perform an experiment
to understand photosynthesis. signifies this vahdity

2.8 28Ty GalPrrdintd 85 dorgtedd S0med; HodiriSdid efo S8 SIS a8

i

EAEIrHo DDl eXlido & Frirasdd Jrdinob
Options :
Content validity

T T A SU S W
otol LD ,‘n_:-,"o_:’Ew:sl‘ﬁ

1. #®
Environmental validity
DT 0es @RS S

2. %

Process vahdity

-

wt @ a7 B nt
@Jipdfa, |oTlTPEuS &

3.¢

Historical validity

(o Er L . Y =k
RS areTreSes
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Question Number : 149 Question Id : 865799611 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
A teacher to know the understanding of her students about ‘Respiration in
Organisms’. has filled 3 test tubes of equal size A, B and C with water upto
3 /4% Jevel. Then, she asked her students, which of the test tubes will contain
the highest concentration of CO; if I put a snail in test tube A, a water plant in
test tube B and keep both a snail and a plant in C., which process skill 1s the
teacher emphasizing on in this case?

Ehod® THBah’ 180D 85 Doryhe EHPPSD BndE Hmad o8 edrprciioee;m, A,
B 580 C &5 H:rd £985rmod 59y oﬁéé T0Eed 3/4%5 Fron $5%H HBE
VoBod. & S8 6D &3 ITHe I S08 T A S

58 Fw%%0 sod, C &° 28 58 $H8ain Fn¥, BoloSd ¢odd J $BY 856" w&ds CO,

Gotnod ol offod. & Jolbed® GrrrdlTren o PECT Jesodd TR
ST ?

Options :
Predicting

wodae S0hEo

1. ¢

Communicating

FHmardo
2. %

Measuring

_ Bresitio

Question raising



Question Number : 150 Question Id : 865799612 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :

In a village, most of the people are suffering from anaemia. As a biology teacher.
Supriya wanted to give her class X students a good awareness of this and make
them find solutions to this situation. Which of the following method would she
prefer while handling with this?

2.8 [rd0d’, Ter f0b Puen JERSSE rOSDETh. Sy srTroT O,
D@ah S5 DN SN &-GD:.CSJE:”:;J &2 HBod Hod) eITrS EdoTred HBcH &
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Options :
Lecture method

at Y . N
ST o}{gé

1. % -
Demonstration method
ESlaleiniIals

2. % B
Experimental
Eelenrlal -:A.,%)'EQ

3. %

Problem solving approach
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